1Ay 35

to 1 Xfolof| cistod

us

il

1o

H

O| & (oteh ol=o

uy

2.

]

H

I+

— M X

ol K| :

LHo
O

ilkxz
2

2 x|l 4 X|

1
G

d
dt

C

1kx2

+_
2

1 .
—mx

2

O AX| :

=
o

=0

mxX +kx



(2) Particle EHXIA 25

im(I6'?)2+mg|(l—cos6’):C
% ofufx| : 2

d 1 : dc
—[=m(68)? + mgl(1—cosHh)]=— !
dt[2 (o) gl( )] at

|
|
|
|
|
|
|
I
_______ |
9’+% sin@ =0 "“"‘-Jl-m'—"ma)

it € issmall => SINO =86

é—!—% 0=0 @, = 4

(3) Rigid Body &

& oA :
1 N 2 l N 2
Em(dé?) +EICG (@) +mgl(l-cosg)=C

d 1 . 1 . dC
—[=m(dO)* + =l (0)* + mgd(1—cosb)] = —
dt[2 ( )+2 ce (0)” +mgd( )] at

(I +md?)d + mgdsingd =0

it € issmal  => SINO=0O

1,,6 + mgd& =0




2) BEHE2HE HM

(5. 3)

A= [dA= [ (Yeures = Yeure2 )X
A A

Fewral = Vewrea

1 1 (x.3)
X= K{ XdA= Z{ X( Yeurver — Yeurve2 )dX

¥ ICL‘.”l‘e’]_.

Y
i

(. 01)




|

=l

X0
I
o

Pl

A

A

pl(x*+y*)dA
=1, +1,

Irzdm
pJ‘r2 dA

. 2
I, =1, +md

IZZ

HHE A AHel

H z £9

oz

|

A
=

=
=

E

=
o

|

=
=

1
©



+1
10

Wl
il

7t

ol

2 8k 2 74

A

Rl

= X
— |

AI—OI | ) = =2 =
(= (=] | i =T
aski g la
pe=
= |—|—, Masking ape | |
XA of T (o] L T 2o EM=7} 7 7
= |' |-E| I

B

-
110

KO
KIr

ol_E

L=

Elol =& HA

70l
KO
KIr

m_ra

= O Zel= A2

=35t

ZsA
74, 10, 15, 20 cycles

?— N ], A T

4.

70l
kKO H
KIr

o o
K o

Kd

K
o ™

0
w1 o

EN
" KN



of #&22 olH[E1nAMo 7|2 x =

*

2 Sxi7t BIAel U8

o}
LS

04 5HX|

F

x
(=1

14
Ui

[Ife)

M-

1)

2 B

ol 2 xf ==o|c}.

o <

oll

==
1o

ol

t, ®=o

MS

o

Aol =

=
=

to{ otzH

b7 mi 2o =

FA S

Ji=3

nMel Mot Ly

KA

xtgsfok 5

WordE Al stod

o BEOME

24
=

==
[Ife)

By
m]

1l

-,
NI

70

[z

==
[Ife)

1)

FCF

<)
—

Stofof

i =t

[

astA gzl

Hr

T
Hr
il
<

M

Tl
il

Tl
-l

70

Tl
il

o
__O_”_

il
il
M
[
il
il

-l

__.A_._._
1

ok

H| 1

10
il
o

|



